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Puzzle 1 (Medium, difficulty rating 0.56)

| | |
o|m|~|o|<t|ajo|o|—] Blx|—|o]la|o|o]m|—|wv] Blo|—|~|a|m|w]o|<t|o] Blwo|w|m|—|<|]—|o| 0
o o o
o|o|w|~|—[mjo[|a]  HAw|[—|~|o|m|~lofs|o]  Bo|o|m]—[~||w|o|] ¥ r|o|o]—[m|w]o|~|]
5 ® 5
—|<| v |o] o]m ||~ “|o|o|m|w|—| < |~||© Slaif<r|w]o (| o)—[—|m S|~ |ovjo|o|olwo|m| <
2 2 2
< || —|o|m|wo]o|~| 3l || o]o x| |||~ 3|o|m| ][] o || 3| ][ —[—]m|w©|o
w|o|ol—|~|olx|c|m]  Tlo|w|s|m|~|o]c|o|—] Tlw|N|o]o|—|o|m|—|w]  TBfm|—|o]ls || o]|o|o| i~
£ £ £
m|~|o]c|o|st]—|o|w] Sla|o|—|o|w|—|s|m|o]  Si—|o|olw|o|m]s ] Slw|o|~|m|o| o]t || —
e] e e]
() (4] ()
||| |o|~N|fm|o /M\3491856_{2. /M\659841237 /M\9312_b4786
N ™ <t
~|o|o]m|a|—]oofo| < o—|N|—]<t|©o|d]o|o|m o]m || = |o| o] —|w| < o|v|©|w]o|~|—|o|<|m
N X N
ool |o|of~|—(o]  Slofojwl-(aiol—|ofs] Pl Sow|ajojolof - Sl oo o] mf | o




